Dear Parents and Carers,

Please find attached 2 weeks of learning to keep your child engaged in their learning over the
forthcoming weeks. You will also find within the pack a copy of our curriculum overview should you
wish to complete further tasks within Spring 2 with your child.

Can | remind you of daily expectations:

Reading (15-20 minutes) daily and reading records to be signed by an adult,
Times Table Rockstars,

Daily spelling practice (please find year 5/6 spellings within packs)

On returning to school please could children bring all completed learning with them, as these will
need to marked and assessed.

Many thanks,

Mrs Riley, Ms Armiger and Mrs Fey
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Reading



All about...

How Weeds Get Everywhere!

How come weeds get everywhere in our gardens? One minute your lawn can be lovely and
green and the next minute it’s covered - and I mean covered - in dandelions! Well, it’s all to
do with the clever way that plants reproduce and spread their seeds far and wide to keep
their species alive.

Making the Seeds

So, how do the plants make so many seeds?

Most plants are made up of some female and male plant parts. Bees and other insects are
attracted to the flowers because of their lovely smells and colours. While they are at the
flower, they help move pollen around to fertilise the plant. Sometimes even the wind can help
with moving the pollen ‘around to the right places.

Once the plant is fertilised, the seeds can grow. When this happens in a dandelion, the
yellow flower turns into what we call a dandelion ‘clock’. If you look closely at a dandelion
clock (also called a ‘seed head"), it is full of dark coloured seeds with light, feathery, white
tops that look like umbrellas.

e P = - —— i

- A weed is only a plant that someone does not want in
their garden. They can be very pretty!

+ Nettles are used for making tea and medicines, so they are
actually very useful.

+ The world’s largest weed is giant hogweed. It can grow up
to 3.65m in height and have leaves that measure
91cm long.

- Some people think that if you hold a buttercup under your
chin and the yellow reflects on your skin it means that you |
like butter.

Spreading the Seeds
So, how do the seeds get everywhere?
This ts the clever bit...

As we said before, dandelions make lots and lots of seeds. They all have feathery, white tops
that look like umbrellas. This makes the seeds brilliant at floating and flying through the
air. So, all they need is the wind to carry them near and far. Before you know it, there are
hundreds of seeds all over your lawn, which are all ready to germinate and make yet more
dandelions. Other flowers and plants also have other clever ways of spreading their seeds,
including putting them inside tasty fruit so that animals eat them. Eventually, the seeds
come out of the other end in their poo and start to germinate.
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Questions about How Weeds
Get Everywhere!

1. Name the world’s largest weed.

2. Name something mentioned in this text, other than bees and other insects, that can move pollen around in

the flower.

3. What is another name for a dandelion ‘clock’?

4. What is a good thing that nettles can be used for?

5. What makes dandelion seeds good at floating in the air?

6. Name another way mentioned in this text, apart from the wind, that seeds can be spread around to

germinate in other places.

7. How tall can the largest weed grow?

8. What does ‘germinate’ mean in the final paragraph?

9. In paragraph one, the author has written the contracted word it’s. Write the full words without the

apostrophe.

10. In the first paragraph, what does the word ‘reproduce’ mean?
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Answers about How Weeds
Get Everywhere!

Answers
1. What is the name the world’s largest weed?

Giant hogweed

2. Name something mentioned in this text, other than bees and other insects, that can move pollen
around in the flower.

Wind
3. What is another name for a dandelion ‘clock’?

Sead head

4. What is a good thing that nettles can be used for?

Making tea or medicine

5. What makes dandelion seeds good at floating in the air?

Accept any reference to them being; light, feathery, like an umbrella.
6. Name another way mentioned in this text, apart from the wind, that seeds can be spread around
to germinate in other places.

Animal poo

7. How tall can the largest weed grow?

3.65m / 3.65 metres.

8. What does ‘germinate’ mean in the final paragraph?

Start to grow from a seed
9. In paragraph one, the author has written the contracted word it’s. Write the full words
without the apostrophe.

Itis

10. In the first paragraph, what does the word ‘reproduce’ mean?

To make more of / make another one / produce offspring.
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wmwms  Earthquakes

The Earth’s Crust

The Earth's crust and the top of the mantle have about
twenty tectonic plates, which are like jigsaw puzzle pieces
covering the Earth. These plates are always moving and
bumping into each other. We call the edges of the plates
‘plate boundaries’, which are made up of faults. These
faults are where most of the world's earthquakes occur.
As the plates move, the edges get stuck because they are
not smooth, but the rest of the plate keeps moving. When
the force is too much, it slips and bumps and that causes
an earthquake.

Seismograph

A seismograph (say: size-mo-graf) is a special piece of
equipment that records earthquakes. Seismometers are
securely fastened to the Earth, so when the ground
starts to shake, the instrument’s case moves too. What
doesn't move is a weight that hangs on a string inside
the case. When there is an earthquake, the case shakes
with the ground but the weight does not, and it draws a
line to show how much the ground shook. Scientists use
seismograms (graphs produced by the seismograph) to
measure how big each earthquake is.

Interesting Fact

Six Italian scientists were convicted of manslaughter (killing someone without
planning or being hateful) and sent to prison for not predicting (knowing it was
coming and warning people) the 2009 L'Aquila earthquake in which 309 people
died. They argued against their cases and won, so were eventually not sent

to prison.

You could try to find out:
o How earthquakes are measured.
e How easy they are to predict.

About other cases where prison sentences have been handed out in
unusual circumstances.

o How you go about arguing a decision made by a court.

o
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Questions About Earthquakes

1. Which layer of the Earth do the tectonic plates make up and how many are there?

They make up...

2. What are plate boundaries?

Plate boundaries are...

3. Where in the world do earthquakes take place?

Earthquakes take place...

4. Describe what causes earthquakes.

Earthquakes are caused by...

5. Which part of the seismograph moves? The case or the weight on a string?

The part of the seismograph that moves is...

W * Page 2 of 2
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Questions About Earthquakes

Answers

1. Which layer of the Earth do the tectonic plates make up and how many are there?

They make up the Earth’s crust and there are about twenty.

2. What are plate boundaries?

Plate boundaries are the edges of the Earth’s tectonic plates.

3. Where in the world do earthquakes take place?

Any answer that suggests: Earthquakes take place within faults / areas where the plate
boundaries meet.

4. Describe what causes earthquakes.

Any answer that suggests: Earthquakes are caused by the plates rubbing against each
other and getting stuck before coming free with a large force/jolt.

5. Which part of the seismograph moves? The case or the weight on a string?

The part of the seismograph that moves is the case.
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All about...

Rainforest Deforestati.on

Rainforests are an essential part of our planet, providing oxygen, absorbing carbon dioxide and
housing 50% of the animal and plant species of the planet. Not to mention, the medicines and
cures that are made using plants only found in a rainforest environment.

Deforestation

Deforestation is the name given to the destruction of the rainforests and this is being done by
burning them, chopping down the trees, or in some cases, flooding the areas. This is happening
so fast that an area the size of twenty football pitches is being destroyed every minute! If the
current rate of deforestation continues, it will take less than a hundred years to destroy all the
rainforests on Earth.

R

- |

A TRNE T " 44 4| FactFilein Numbers
' fis' 20% of the world’s oxygen is
produced in the Amazon forest.

28,000 species of animals are
expected to become extinct in the
next 25 years due to deforestation.

: '}‘_- 'I:':I:f-_ N

7 of the tropical rainforests that
we had have already gone.

Why are they being destroyed?

The biggest reason rainforests are cleared is to make space for food, including cattle to be farmed
for cheap beef and also growing large crops, such as soya beans and palm oil. In addition, other
causes of deforestation, which are also related to making money include; chopping down and
using the wood from the forest, building roads for mining metals, gold or diamonds, flooding
areas to make dams to generate electricity and also digging for oil.

How can they be saved?

There are plenty of charities fighting against deforestation and people can always help by raising
money for those charities. Also, think about the reasons that the forests are being destroyed
and how some little changes in your everyday habits could help. For example, the cheap beef
farmed in the areas that used to be rainforest land is often used in fast food chains. Could you
avoid eating fast food from these outlets? You could also check on your supermarket food labels
for the country of origin of any meat you buy. Was it farmed in an area where deforestation is
taking place? You could also use rainforest-friendly wood so you know it is not a by-product of :
deforestation. Finally remember, paper comes from trees so any paper saving you can do, as well ¢
as recycling, will help the environment. '

< B "- Jak = Ee *-_- o . ‘_Ik\. |_' v
o i e NN L NGTES S Kbl ]
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Questions about Rainj’orest Deforestation

1. Name a reason not to destroy rainforests given in the first paragraph.

2. Name two of the three ways given that a rainforest can be destroyed.

3. What percentage of the rainforests has already gone?

4. In the fact file, what does the author say will happen in the next quarter of a century?

5. Why does saving paper help the rainforests?

6. Why has the author used an exclamation mark in paragraph two?

7. What fraction of the earth’s plant and animal species live in the rainforests?

8. List two main reasons why deforestation is occurring.

9. Which rainforest produces 20% of the world’s oxygen?

10. What is your opinion about deforestation? How could you help to stop it?

w * & Page 2 of 2 twinkl.co.uk



Questions about Rainforest Deforestation

Answers

1. Name a reason not to destroy rainforests given in the first paragraph.

Any from: medicines, cure for cancer, 50% of animal and plant species live there,
gives out oxygen, absorbs carbon dioxide.

2. Name two of the three ways given that a rainforest can be destroyed.

Any from: burning, chopping down, flooding.

3. What percentage of the rainforests has already gone?
50% (it says V2 in the text).

4. In the fact file, what does the author say will happen in the next quarter of a century?
(28,000) species of animals will become extinct (the text says twenty-five years).

5. Why does saving paper help the rainforests?
Paper is made from wood (making it also causes more carbon footprint).

6. Why has the author used an exclamation mark in paragraph two?

The rate of destruction is surprising (discuss this).

7. What fraction of the earth’s plant and animal species live in the rainforests?
2 (the text says 50%).

8. List two main reasons why deforestation is occurring.

Any two from: Food: Cheap beef, or agricultural crops including soya or palm oil, using
the wood, building roads for mining, generating electricity or digging for oil.

9. Which rainforest produces 20% of the world’s oxygen?
The Amazon Rainforest.

10. What is your opinion about deforestation? How could you help to stop it?

Open ended for discussion. Answers could discuss raising money for charities,
making different choices about food and conserving paper.
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We all live on Earth...why? Well, Earth is the only planet in our solar system that has all
the things we need to survive: 21% oxygen in the air to breathe, water to drink and all at
just the right temperature warmed by the Sun. Its name comes from the Old English word
‘ertha’ and the Anglo-Saxon word ‘erda’ which means ground or soil.

The Blue Planet:

Earth, the third planet from the Sun, is referred to as ‘The Blue Planet’ because of how it looks
from space — blue. This is due to the fact that over % of the Earth’s surface is covered in water.

N BN

Did you know?

Age: approximately 4.54 billion years
Diameter: 13,000 km

Distance to Sun; 150,000,000 km
Surface Temperature: 15°C

Highest point: Mount Everest 8.8 km

Lowest point: Challenger Deep 10.9 km below sea level

I'm Spinning Around:

The Earth spins on its axis once every 24 hours — that’s what gives us day and night as we spin
to face the Sun and then away from it again. You wouldn’t notice but the Earth’s spin is actually
slowing down by 17 milliseconds per hundred years. Eventually this will lengthen our days but
it will take around 140 million years before our day will have increased from 24 to 25 hours. 1
wonder if children 140 million years from now will have an extra hour at school.

Whilst it is spinning, the Earth is also orbiting The Sun, which takes 365 % days to do one full
circuit. This gives us the length of our years. Our seasons are also dependent on the orbit of the
Earth as our planet is tilted at an angle. This means that around one side of the Sun we are tilted
towards it — giving us warmer temperatures and longer days...our summer. However, around the
other side of the Sun we are tilted away from it giving us less light and cooler temperatures — this
is our winter. All in all, it’s a pretty amazing planet and I, for one, am glad to call it home.

Photo courtesy of {(Kevin M. Gill@flickr.com) - granted under creative commons licence - attribution
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Questions About Planet Earth

1. What percentage of Oxygen is in the air we breathe?

2. What is the highest thing on Earth?

3. How long does it take the Earth to spin once on its axis?

4. Will the Earth always spin at this speed? If not, how will it change?

5. How many planets are between us and the Sun and can you name them?

6. Why do we experience summer around one side of the Sun?

7. Why is Earth also called ‘The Blue Planet’?

8. What 3 things make it possible for us to survive on Earth?

W * & twinkl.co.uk



9. Why do we need to add an extra day to our year every 4 years?

10. Which fact or piece of information has amazed you the most and why?

W W & Page 3 of 3
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Questions About Planet Earth

Answers

1. What percentage of Oxygen is in the air we breathe?

21%

2. What is the highest thing on Earth?

A mountain (the question asks ‘what thing’)

3. How long does it take the Earth to spin once on its axis?

24 hours/1 day

4. Will the Earth always spin at this speed? If not, how will it change?

No - it is slowing down

5. How many planets are between us and the Sun and can you name them?

2 (Mercury and Venus)

6. Why do we experience summer around one side of the Sun?

The Earth is tilted towards The Sun

7. Why is Earth also called ‘The Blue Planet’?

Water makes up 2/3 of the surface so it looks blue from space.

8. What 3 things make it possible for us to survive on Earth?

Water, air (or oxygen), warmth

9. Why do we need to add an extra day to our year every 4 years?

Due to the fact we have an extra % day every year we orbit the Sun

10. Which fact or piece of information has amazed you the most and why?

Open ended to discuss.
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=== Recycle Week =~

|

What is Recycle Week?

Recycle Week is an annual event (usually in June) which
has been running since 2004. It is a time to remind people of
all the things that can be recycled. Each year has a theme,
for example: The Unusual Suspects - common household
items that often get forgotten about, and instead of being
recycled, they are thrown away. These include items such
as containers, shampoo and conditioner bottles, bleach
bottles, tissue boxes and deodorant cans.

What is recycling?
Recycling is when objects made from glass, steel, paper, cardboard, certain plastics and
even waste food, are taken to a recycling plant and turned into other things. Therefore,

they are used again, recycled into something else and not just thrown away into
a landfill.

| Why is it important to recycle?
It is important to recycle for these reasons:

o Recycling conserves resources

When we recycle, used materials are made into new products, reducing the need to use natural
resources. Natural resources come straight from the earth, so if we recycle products that are
= already made, we reduce the need to use fresh, raw material through mining and forestry.
4
I
{'
1

e Recycling saves energy

Using recycled materials in the manufacturing process uses a lot less energy than is needed
for making new products from raw materials — even when you think of all the extra costs,
bl like transport.

) e Recycling helps to protect the environment

i Recycling reduces the need for mining materials from the ground. Changing these raw materials
1 from one thing into another creates a large amount of air and water poltution.
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- o Recycling reduces landfill

j Landfill sites are huge areas where rubbish that isn’'t recycled is dumped. They need a lot of
< space. The rubbish takes years to rot and while it is doing that, these sites give off methane, a
f powerful and dangerous greenhouse gas. There are over 1,500 landfill sites in the UK.

- N

« Both metal and glass can be recycled again and again
without loss of quality.

+ If we recycle all the steel packaging we use in a year,
it would save enough energy to make over 50,000
return train journeys between London and Edinburgh!

» Recycling one drinks can could save enough energy to
power a TV for four hours,

Other recycled materials

Clothing and textiles can be recycled: bedding, old underwear, damaged clothing and
faded curtains can be recycled and made into new items, such as padding for chairs and
car seats, cleaning cloths and blankets.

» Check to see if your council collects clothes and textiles to be recycled.

+  Some charities collect clothing and textiles for recycling, check with your local store
or on the bags that come through the door.

» Clothing and textile banks are often in supermarkets and local car parks - check to
see if they take items for recycling. ’.

Foods that can be recycled are: peelings, tea bags, bread, pastries, out of date food, rice,
pasta, beans, meat, fish and waste food left on plates. It can then be used as fertilizer

on farms. \

How can we recycle?

Whenever we use a plastic or glass container, we
need to wash it out and put it in a separate bag
from our other rubbish. Then put the recycling
items into a blue wheelie bin or take it to a
recycling collection point, and that’s it! We can
all do our bit to help the planet and save the
environment for generations to come.

Photo courtesy of (poolie and epSos.de@flickr.com) - granted under creative commons licence - attribution
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Questions About Recycle Week

1. In your own words, explain what Recycle Week is.

2. What objects do people often forget about?

3. What does the phrase ‘reducing the need to use natural ' mean?

4. Explain your understanding of why recycling helps to protect the environment?

5. Would you want to live near a landfill site? Explain your reason.

6. Why are glass and steel suitable for being recycled many times?

7. What can you do to recycle clothes and textiles?
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8. Name two more textiles that could be recycled.

9. How would you try and persuade people to recycle?

10. Write a set of instructions to tell people how they can recycle one item.

w * % Page 4 of 4
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Questions About Recycle Week

Answers

1.

In your own words, explain what Recycle Week is.

Own explanation

. What objects do people often forget about?

People often forget shampoo bottles, conditioner bottles, tissue boxes, bleach bottles and
deodorant cans.

. What does the phrase ‘reducing the need to use natural ' mean?

It means the need to use natural materials is less.

. Explain your understanding of why recycling helps to protect the environment?

Recycling helps to protect the environment because changing the raw materials into
something else pollutes the air and water.

. Would you want to live near a landfill site? Explain your reason.

No, I wouldn’t like to live near a landfill site because it would be smelly /dirty/ dangerous
gas given off.

. Why are glass and steel suitable for being recycled many times?

Glass and steel are suitable to be recycled because they don’t lose their quality.

What can you do to recycle clothes and textiles?

I could take clothes and textiles to a charity shop/ supermarket recycling point/ put them
in a charity bag on your doorstep.

. Name two more textiles that could be recycled.

Other textiles that could be recycled are rugs, pillow cases, scarves, towels etc.

How would you try and persuade people to recycle?

Recycling is important because it saves energy, the environment, resources and
Own response

10. Write a set of instructions to tell people how they can recycle one item.

Decide if it can be recycled.

Wash the container out.

Put it in a recycling bag.

Take it to a recycling point or put it in the blue wheelie bin.

S
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The Great Plague

7. How must it have felt to be living in London at this time? Explain your answer using as

much detail as possible, and remember to use evidence from the text.
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The Great Plague

Answers

1. Why was the plague so frightening to people?
The plague was frightening as there was no cure and for many it meant certain death.

2. What reasons could there be, for there being no cure for the Great Plague?
The reasons why there was no cure are that the doctors did not know as much about
medicine and diseases as we do now. Also the conditions were unhygienic, and this
makes it hard to treat disease.

3. How did people try to prevent themselves from catching the plague?
Many tried holding small bunches of flowers to their noses, to stop themselves from
breathing in bacteria. Some people wore lucky charms, such as a dead toad around
their necks

4. Why might the fact that many cats and dogs were killed, have actually helped the
outbreak to spread further?
Cats and dogs were predators of rats, so therefore there were less animals to kill the
rats. This meant their population grew, so there were more rats to spread disease.

5. Why do you think houses with the plague were sealed, even though it meant the families
inside would die without help? The houses were sealed because there was no other way
to stop the disease from spreading. By keeping those infected inside and unable to have
contact with others, it was hoped the disease would stop being spread.

6. What does rat-infested mean?
Rat-infested means that the buildings has been taken over by rats. The buildings were

overrun with rats.

7. How was the plague eventually controlled and stopped?
The cold weather killed many of the rats and fleas, who were the cause of the plague,
as well as killing bacteria. Also the Great Fire of London destroyed many rat-infested

buildings, killing more rats.

8. How must it have felt to be living in London at this time? Explain your answer using as
much detail as possible, and remember to use evidence from the text.
Various answers, but answers must refer to the sense of fear and the unknown. Also
the sadness and despair at seeing so many people falling victim to the plague. Some
answers may discuss how doctors must have felt helpless and frustrated that there was
so little they could do to help people.
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The Great Plague

What was the Great Plague?
During the summer of 1665, London was rocked by a horrific disease, which
became known as the Great Plague. Despite the fact that there had been an
outbreak of the plague (the Black Death) 300 years before this, there was
still no cure. For this reason, people were terrified of the plague as they
were aware that, for many, it meant certain death. 1665 was during the
seventeenth century and at this time, medicine and health care were very
different than they
are today. Hygiene
was often very
poor; towns
and villages
could be dirty
and unsanitary.
Also, medical
knowledge was

& limited and this

. explains why the

, plague caused so
much destruction.

How the plague spread

There were many concerns about how the plague was spread. It was hoped
that if the cause of the plague could be found, it could be better controlled
or stopped. Some doctors felt that poisonous or bad air was to blame. As
people continued to breathe it in, they became unwell.

Others blamed farm animals.

However, the cause of the plague was rats. Rats
carried bacteria, which was spread to people

by flea bites. When people sneezed and ~—
coughed, they spread the disease even more.

The Mayor of London believed that domestic
animals, such as dogs and cats were to blame.

He ordered that these animals were destroyed.
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The Great Plague

What happened if someone caught the plague?
The plague spread extremely quickly, and within a few
days of contracting the disease, people were dying.
The infected suffered from painful swelling of the skin,
blisters, headaches, fever and vomiting. If someone
froma household contracted the plague, the whole
house was sealed. A red cross was marked on

the front door of any houses where somebody

had the plague, along with the words ‘Lord

have mercy on us’. Historians believe that 100
000 people died in London by the end of 1665.

How was the plague stopped?

In the autumn of 1666, the weather was particularly cold. This killed of many

of the rats and fleas which were spreading the virus, as well as reducing the

spread of bacteria. Also, the Great Fire of London, in the same year, which
, destroyed thousands of homes and buildings, also helped to stop the plague.
f The fire spread rapidly due to the fact that the houses were so close together and

made of wood. The fire destroyed many rat-infested buildings, severely reducing

the rat population.

Plague Remedies
As there was no cure, people tried alternative
remedies to try to prevent them from contracting

the plague.

 Small bunches of flowers: people thought that
holding them to their noses, would stop them
from breathing in any bad air or bacteria.

« Lucky charms: people wore them to ward off
the plague, one example is wearing a dead toad
around the neck!

« Soaking money in vinegar: when paying for
goods, money was soaked in vinegar before giving
it to someone else.

@ * W * Page 2 of 2 visit twinkl.com :W
N\:?’--"d /



The Great Plague

Questions

1. Why were people so terrified of the plague?

2. What reason might people have expected there to be a cure by 1665?

3. What do you think it means that houses were sealed when somebody caught the plague?

4. Why might the fact that many cats and dogs were killed have actually helped the outbreak

to spread further?

5. What does the phrase ‘medical knowledge was limited and it was not known how to cure

many diseases ‘ mean?

6. Why do you think houses with the plague were sealed, even though it meant the families

inside would die without help?
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Art

Week 1: Collect some sustainable
items from the local area and
gardens. Begin to design and form
your Andy Goldsworthy piece of art.

Week 2: using the resources you
collected from last week. Create
your own Andy Goldsworthy piece
using sticks, leaves and other folage.
Record with a photography.



Literacy



Week 1:

Monday: Research the positives and negatives to the building of incinerators. Suggest your view
point and explain your thoughts.

Tuesday: create an informative poster to members of the public about the pros and cons of using
incinerators to exterminate waste.

Wednesday: Research the building of the Wisbech incinerator find out what, where, when, why, and
how planning and waste companies feel this could benefit Wisbech. What are the newspapers
saying? Have a read and note your ideas using bullet points.

Thursday: create an information leaflet to give out to members of the public regarding the Wisbech
incinerator, use sub-headings to organise, hyperboles to exaggerate language, pictures and formal
language to captivate your reader.

Friday: Create a fact file to form a whole class encyclopedia regarding the power of recycling and the
lack of need for the incinerator to be built.

Week 2:

Monday: using your recyclable items how many different and creative useful items can you create?
Record your ideas with a photography to share on your return!

Tuesday: Select your favorite item and write your own instructions as to how you made it, using
skills taught in class.

Wednesday: create a persuasive poster to encourage consumers to buy your recycled product-
Extension could you write a rap to promote your product further.

Thursday: write a letter to ‘Dragons Den’ explaining what is the inspiration behind your product?
Why do we need recycled products? What makes your item unique? Why should they invest?

Friday: Research and create a fact file for a human feature around the world to form a class
encyclopedia. This could include the great wall of china, the Sydney opera house, Big Ben, Tower of
London.



Science
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Science Session2

Your task is to research and create a presentation all about
the founder of ‘Gravity’ Issac Newton. It is up to you how you
present your ideas, this could be a powerpoint presentation,
pdster, fact file, flip cards or mood board.
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Varied Fluency
Step 2 - Subtiracting Decimals Within 1

National Curriculum Objectives:

Mathematics Year 5: (5F10) Solve problems involving number up to 3dp.
Mathematics Year 5: (5M9a) Use all four operations to solve problems involving measure
[for example, length, mass, volume, money] using decimal notation, including scaling.

Differentiation:

Developing Questions to support subtracting decimals within 1 using hundredths and

tenths, no exchanges.
Expected Questions to support subtracting decimals within 1 using thousandths,

hundredths and tenths, with exchanges.
Questions to support subtracting decimals within 1 using thousandths,

hundredths and tenths with mulfiple exchanges per question.

More Year 5 Decimals resources.

Did you like this resource? Don't forget to review it on our website.

cuas classroomsecrets.co.uk

© Classro: om Secrefs Limited 2018

Varied Fluency - Subtracting Decimals Within 1 - Teaching Information



Subtracting Decimals Within 1

Subtracting Decimals Within 1

la. Use the cubes and tables to calculate:

Cnes

Hundredths

|

How much is 2 tenths less than this?
Now subtract 2 hundredths?

i

VF

1b. Use the cubes and tables to calculate:

Ones

Tenths

Hundredths

[

5

How much is 1 tenth less than this?
Now subtract 2 hundredths?

N1

VF

2a. What is the difference between the
reading on the scale and your target
weight marked with #*.

2b. What is the difference between the
reading on the scale and your target
weight marked with %

3a. Find the missing nhumber in each bar
model.

0.12

0.68

0.21 0.02

3b. Find the missing number in each bar
model.

0.12
0.86

0.45 0.26

0.82 0.66

0.67 0.87

Now write each as a subftraction.

¢

VE

Now write each as a subtraction.

VF

4a. True or false?

)

0.88-0.16 =0.72

VF

4b. True or false?

)

0.78-0.64=10.16

VF

5a. Cdilculate the difference using the
number line.

5b. Calculate the following using a
number line.

0.56 0.59 0.15 0.48

b
¢ |27 "
S classroomsecrets.co.uk
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Subtracting Decimals Within 1

Subtracting Decimals Within 1

6a. Use the cubes and tables to calculate:

6b. Use the cubes and tables to calculate:

Ones Tenths Hundredths | Thousandths

Ones Tenths Hundredths | Thousandths

JdHENE

s

:

@

How much is 3 tenths less than this?
Now subftract 4 hundredths?
What is another 6 thousandths less?

W

VF

How much is 4 tenths less than this?
Now subtract 8 hundredths?
What is another 2 thousandths less?

W

VF

7a. What is the difference between the
reading on the scale and your target
weight marked with*

7b. What is the difference between the
reading on the scale and your target
weight marked with *.

8a. Find the missing number in each bar
model.

0.153

0.474

0.349 0.725
0.971 0.963

Now write each as a subtraction.

VF

8b. Find the missing number in each bar
model.

0.623
0.839

0.159 0.46

0.764 0.783

Now write each as a subtraction.

VF

9a. True or false?

2

0.863-0.276 = 0.612

VF

9b. True or false?

W

0.175 - 0.089 = 0.091

VF

10a. Calculate the difference using the
number line.

0.532 0.851
e e e e ——_—————

¢

VF

10b. Calculate the following using a
number line.

0.635 0.982
S S |

W

VF

CLASSROOM 2
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Subtracting Decimals Within 1

Subfracting Decimals Within 1

11a. Use the cubes and tables to
calcuilate:

11b. Use the cubes and tables to
calculate:

Ones Tenths Hundredths | Thousandths Ones Tenths Hundredths | Thousandths
T
[
T 3 @ E g g

How much is 8 tenths, 5 hundredths and 2
thousandths less than this?

VF

How much is 5 hundredths and 9
thousandths less than this?

VF

12a. What is the difference between the
reading on the scale and your target
weight marked with . Give your answer
in kilograms.

VF

12b. What is the difference between the
reading on the scale and your target
weight marked with*. Give your answer
in kilograms.

VF

13a. Find the missing number in each bar
model.

13b. Find the missing number in each bar
model.

0.153 0.187
0.731 0.465
0.049 0.157 0.159 0.86
0.073 0.164 0.844 0.973

Now write each as a subtraction.

VF

Now write each as a subtraction.
VF

14a. True or false?

0.983 -0.698 = 0.315

VF

14b. True or false?

0.769 - 0.08 = 0.761

VF

15a. Calculate the difference using the
number line.

0.56 0.902

e |

VF

15b. Calculate the following using a
number line.

0.005 0.082

bar——————— e e e ]

VF
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Varied Fluency
Subtracting Decimals Within 1

Developing
1a. 0.73, 0.53, 0.51

2a. 0.25kg

3a. 0.56, 0.61, 0.64

4a. True.

5a. Various representations possible. The
difference is 0.03

Expected
é6a. 0.165,0.125, 0.119

7a. 0.5kg

8a. 0.321, 0.622, 0.238

9a. False. The difference is 0.587

10a. Various representations possible. The
difference is 0.319

Greater Depth
11a. 0.079

12a. 0.375kg

13a. 0.578, 0.024, 0.007

14a. False. The difference is 0.285
15a. 0.342

13 vt

Varied Fluency
Subtracting Decimals Within 1

Developing
1b. 0.34, 0.24, 0.22

2b. 0.75kg

3b. 0.74, 0.22, 0.61

4b. False. The difference is 0.14

5b. Various representations possible. The
difference is 0.33

Expected
6b. 0.273, 0.193, 0.191

7b. 0.575kg

8b. 0.216, 0.605, 0.323

?b. True.

10b. Various representations possible. The
difference is 0.347

Greater Depth
11b. 0.483

12b. 0.375kg

13b. 0.278, 0.685, 0.113

14b. False. The difference is 0.489
15b. 0.077

classroomsecrefs.co.uk

Varied Fluency - Subtracting Decimals Within 1 ANSWERS
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Homework/Extension
Step 2: Decimals as Fractions 1

National Curriculum Objectives:

Mathematics Year 5: (5Féa) Read and write decimal numbers as fractions [for example,
0.71 = 71/100]

Mathematics Year 5: (5Féb) Recognise and use thousandths and relate them to tenths,
hundredths and decimal equivalents

Mathematics Year 5: (5F12) Solve problems which require knowing percentage and
decimal equivalents of 1/2, 1/4, 1/5, 2/5 , 4/5 and those fractions with a denominator of
a multiple of 10 or 25

Differentiation:

Questions 1, 4 and 7 (Varied Fluency)
Developing Shade the 100 square to represent the decimal given as a fraction. Includes
tenths and hundredths only.
Expected Shade the 100 square to represent the decimal given as a fraction. Includes
tenths and a quarter.

Shade the 100 square to represent the decimal given as a fraction. Includes
quarters and fifths.

Questions 2, 5 and 8 (Varied Fluency)
Developing Match the representation to the correct decimal and fraction. Includes tenths
and hundredths only.
Expected Match the representation to the correct decimal and fraction. Includes tenths,
hundredths, fifths and a hailf.

Match the representation to the correct decimal and fraction. Includes
tenths, hundredths, quarters, fifths and a denominator of 25.

Questions 3, 6 and 9 (Reasoning and Problem Solving)
Developing Identify and explain if the statement is true or false. Includes tenths and
hundredths only.
Expected Identify and explain if the statement is true or false. Includes tenths, hundredths
and quarters.

Identify and explain if the statement is frue or false. Includes tenths,
hundredths and fifths.

More Year 5 Decimals and Percentages resources.

Did you like this resource? Don't forget to review it on our website.

o classroomsecrets.co.uk
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Decimals as Fractions 1

1. Shade the 100 squares to show the decimals below as fractions.

% [ A03] | B.0.8 |

2. Match the visual representation to the decimal and the fraction it shows.

A. 0.4 50
4

0.6 =5

60

0.9 100

VF
HW/Ext

3. True or false?

i )

The image shows the

decimal 0.7 and the

\ fraction % )

Explain your reasoning.

RPS
HW/Ext

¢

ccoc classroomsecrets.co.uk

Homework/Extension — Decimals as Fractions 1 - Year 5 Developing




Decimals as Fractions 1

4. Shade the 100 squares to show the decimals below as fractions.

or

4 [ A0.25)  B.0.7 |

5. Match the visual representation to the decimal and the fraction it shows.

A. 0.5 -
1
B 0.3 ITH
] 30 |
C. 0.2 100

\

T v
HW/Ext

6. True or false?

- )

The image shows the

decimal 2.5 and the
fraction =
racrion 100" J
Explain your reasoning.
¢

AN classroomsecrets.co.uk
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Decimals as Fractions 1

7. Shade the 100 squares to show the decimals below as fractions.

(A.0.75 | B.0.6 | .

HW/Ext

8. Match the visual representation to the decimal and the fraction it shows.

A. 0.8
s. [RTEFTTT 025

C. 0.4

-hl—- O'll-h {\n’lg

VF
HW/Ext

9. True or false?

a4 N\

The image shows the
decimal 0.02 and the

. 2
fraction 5 -

%

Explain your reasoning.

P

RPS
HW/Ext

it classroomsecrets.co.uk
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Homework/Extension
Decimals as Fractions 1

Developing
1. A. 30 squares shaded, 100 or = 10 ; B. 80 squares shqded,m or ]%

60 2
2.A.06,5:B.0.4,-3,C.09, %

3. False. The image shows 0.07, which is equivalent to the fraction -1—;5.

Expected
4 A 25 squares shaded,% or %; B. 70 squares shaded,% or %
1 30
5.A.0.5, 2 :B.02 5 —: C. 03,100
6. False. The place value of the digits is incorrect. It should say 0.25, which is equivalent
to 25 or -
© 700 °" 1 -

Greater Depth
7. A. 75 squares shaded, = 4 ; B. 60 squares shaded,%

8A025— B.0.8,-%.c.04 ‘°

L4 5 r
9. False. The image shows the decnmal 0.2, which is equivalent to W —1% or %

classroomsecrets.co.uk

Homework/Extension - Decimals as Fractions 1 ANSWERS



Reasoning and Problem Solving
Step 1: Adding Decimals Within 1

National Curriculum Objectives:

Mathematics Year 5: (5F10) Solve problems involving number up to 3dp.
Mathematics Year 5: (§SM9a) Use all four operations to solve problems involving measure
[for example, length, mass, volume, money] using decimal notation, including scaling.

Differentiation:

Questions 1, 4, 7 (Reasoning)
Developing Explain whether a simple statement linked to adding decimals is correct.
Expected Explain whether a technical and hypothetical statement, linked to adding
decimails, is correct.

Explain whether a statement, including maths vocabulary and linked to
adding decimails is correct.

Questions 2, 5, 8 (Problem Solving)
Developing Find, correct and explain the mistake when adding 2 numbers of 2dp, within 1.
No exchanges.
Expected Find, correct and explain the mistake when adding 2 numbers of 3dp, within 1.
One exchange.

Find, correct and explain mistakes when adding 2 numbers to 3dp, within 1.
Multiple exchanges and mistakes.

Questions 3, 6, 9 (Problem Solving)
Developing Calculate 2 missing digits (from a given range) when adding decimal numbers
within 1. Tenths and hundredths only.
Expected Calculate 2 missing digits when adding decimal numbers within 1. Find all of the
solutions. Tenths, hundredths and thousandths included.

Calculate 2 missing digits to balance a statement involving adding decimal
numbers within 1. Find all of the solutions. Tenths, hundredths and thousandths included.

More Year 5 Decimals resources.

Did you like this resource? Don't forget fo review it on our website.

W cocopo classroomsecrets.co.uk
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Adding Decimals Within 1

Adding Decimals Within 1

1a. Check what Joanne has said. Is she
correct? Explain your answer.

-

When | add 0.1
to 0.09, my
answer is 0.91.

N

1b. Check what Rowan has said. Is he
correct? Explain your answer.

\

| When |l add 0.1

| 100.05, my
answer will be
0.6. | Faded ¢

J

-
: Y
)¢ el -

; . i
2a. Geoff has taken a test. Mark his 2b. Martha has taken a test. Mark her
answers and write any corrections. answers and write any corrections.

10:83 +10,0'1=0:09 0.03+0.46'=0.53
v | i d i
1062+0.24=8.8 |011:5+/0:4) =0.2
l034 +0:6'2'=10[916 10:04+0.07=0.74
loi53+0.04=0.93 10:37+0:142 =079
10,814 +0.051=/0.0 9 10.85+0.01=0i95
ﬁ{ Ps ﬁ PS

3a. Which digits from 5 to 9 could you put
in the empty spaces to make this
statement comrect?

0.63+0.2 0.8

¢

3b. Which digits from 0 to 5 could you put
in the empty spaces to make this
statement correct?

0.23 + 0.

PS

ﬁ}

PS

CLASRBON 55
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Adding Decimals Within 1

Adding Decimals Within 1

4a. Check what Henri has said. Is he
correct? Explain your answer.

—

You need to work
from tenths to
thousandths when
you're adding
decimails.

L - 7

W

4b. Check what Grace has said. Is she
correct? Explain your answer.

/ﬁ

If you add two
decimals your

answer will never I i j‘ﬁ‘a ' “"L{L
be more than 1. © W
j %

N

ﬁ -

R R
5a. Evie has taken a test. Mark her 5b. Martha has taken a test. Mark her
answers and write any corrections. answers and write any corrections.

{ . L | QOITE )
10,1:3:2+.0.8:28=0:9 5.1

(.

10.70:3+007 =071

f%éosslz‘A +0011=0835 | 4,

0351 +0:039=0.3811 10:628+0.3014=0.912
10.646+0341=0987, 0205+0198=0303
ﬁ PS ﬁ PS
éa. Which digits could you put in the éb. Which digits could you put in the
emptly spaces to make these statements emply spaces to make these statements
cormrect? correct?

0.454 + 0.2 =0.7 £ 0.133 + 0.2 =04 3
0.19 +0.2 = 0.451 0.7 + 0.28 = 0.999

ﬁ? PS ﬁ PS

o e classroomsecrets.co.uk
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Adding Decimals Within 1

Adding Decimals Within 1

7a. Check what Amanya has said. Is she
correct? If not, why not?

The sum of two
numbers with 3
decimal places
will always have 3
decimal places

k foo.

7b. Check what Danny has said. Is she
correct? If not, why not?

The sum of two
decimails larger
than 0.5 will
always be more
than one.

=0} £}

ey

F

8a. Martin has taken a test. Mark his
answers and write any corrections.

g p ittt § fon.
10.548+0354=0.902
|

'0i003+0.879=0909

017240335040

8

8b. Leah has taken a test. Mark her
answers and write any corrections.

10.484+0159=0534

10,263+000920272

10115 +10.029=0,044

PS
9a. Which digits could you put in the 9b. Which digits could you put in the
emply spaces to make this statement emply spaces to make this statement
balance? balance?

0.4 4+0.2 8=0.126 + 0.616 0.79 +0.1 3=0.528 + 0.417
PS
o classroomsecrets.co.uk
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Reasoning and Problem Solving

Adding Decimals Within 1

Developing
1a. Joanne is incorrect. She has added

the two digits but not realised the 9 is 9
hundredths and the 1is 1 tenth so the
answer should be 0.19.

2a. T ! ‘corrections
0:83+0.01=0,09 084

‘0,42+D0.26=88 088
034+0.62=0,96. v

0.53+0.04=0{93 0.57

[0.84+0,05=009 089

3a. 5,8; 6,9

Expected
4a. Henri is incorrect. You work from the

right to left, adding thousandsths first, then
hundredths and then tenths.

5a. ; ~__correcfions
0132+0828=0951 096 ‘

f0703+o.o7 =071 0773
I .
(682440011= <0835 v
'0351+0039=0.381" 039

10646+034120987' v

6a.5,0;6,1; 7,2, 8,3; 9.4and 1,6

Greater Depth
7a. Amaya is incorrect. If the sum of the

thousandths digits is equal to 10
thousandths, then this would be
exchanged for 1 hundredth and there
would be no need for the 0 (place holder)
in the thousandths column if both numbers
were 3 decimal places. Therefore the
answer would have two decimal places.

8a._
d ‘ .| ' corrections
0548+0354=0902( v

0.00340879=0,909) 0882
;

.0.172+0336=0409| 0508
0:626+0275=0.901, ¥

0743+0198=0931. 0.941.

90.4,9. 5.8;6,7; 7,6;8,5: 9,4

., e,
Bie meper 7T

© Classraom Secrets Limited 2019

Reasoning and Problem Solving
Adding Decimals Within 1

Developing
1b. Rowan is incorrect. He has added the

two digits but not realised that the 5 is 5
hundredths and the 1 is 1 tenth so the
answer should be 0.15.

2b. i

'0.03+0:46=0.53]

" cérrechions
0.4.9

_20.1 5+0:4 =02 085
0:.04+0,07=0.7.4. 0:11

03740425079 v
4

0.85+0.01=095] 0.8

3b.0,2;1,3;2,4; 3,5;4,6; 5,7

Expected
4b. Grace is incorrect. If the value in the

tenths column is greater than 9, then you
need to exchange and carry over into the
ones column, so your answer would be 1
or more.

5b. |

1 = ~ corrections
0971+0009=098 v

m( . i

076 +0073 149 0,833

lDT48+0143 088] 0891
0628+0304 0912,0932

o.zos+01 98=0.303: 0403’

6b.7,0;8,1;92 and 1,9

Greater Depth
7b. Danny is correct. This is because the

sum of 0.5 + 0.5 = 1 so if we increase either
of the numbers, even by one thousandth,
the number will always be larger than 1.
For example 0.5 + 0.5001 = 1.001

8b. r =~ correchons )

:o4a4+0159 05347 6443

i0263+0.009 Q272 v

10152+O709 0511 0841

i
10621+0178 0899 07?9

l0'I5 +0029= 004410179

?b. 2,5

classroomsecrets.co.uk
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Varied Fluency
Step 1: Adding Decimals Within 1

National Curriculum Objectives:

Mathematics Year 5: (5F10) Solve problems involving number up fo 3dp.
Mathematics Year 5: (5M9a) Use all four operations to solve problems involving measure
[for example, length, mass, volume, money] using decimal notation, including scaling.

Differentiation:

Developing Questions to support adding decimals within 1 using hundredths and tenths, no

exchanges.
Expected Questions to support adding decimals within 1 using thousandths, hundredths

and tenths, with exchanges.
Questions to support adding decimals within 1 using thousandths,

hundredths and tenths with multiple exchanges per question.

More Year 5 Decimals resources.

Did you like this resource? Don't forget to review it on our website.

classroomsecrets.co.uk
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Adding Decimals Within 1

Adding Decimals Within 1

1a. What number do these counters

represent?

If you then add another 0.07, what

Add one more tenth.
number would you have?

¢

1b. What number do these counters

represent?

Add one more tenth.

If you then add 0.03, what number would
you have?

¢

VF

VEF

2a. Complete the part whole model.

¢

2b. Complete the part whole model.

¢

VF

VF

3a. Use the square to add 2 hundredths.
What is your answer?

)

3b. Use the square to add 7 hundredihs.
What is your answer?

'

¢

VF

4a. True or false? 0.52 + 0.02 = 7.24

4b. True or false? 0.05 + 0.91 = 0.94

¥ {
i e
| W ;
| b ‘
E

®
!

-+

3 1

VF

T

VE

classroomsecreis.co.uk
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Adding Decimals Within 1

Adding Decimals Within 1

5a. What number do these counters

represent
if you then add another 0.004, what

Add one hundredth more.
number would you have?

W

VF

5b. What number do these couniers

represent?
@
If you then add another 0.003, what

Add one hundredih more
number would you have?

W

VF

é6a. Complete the part whole model.

W

VF

éb. Complete the part whole model.

W

VF

7a. Use the square to add 4 tenths and 5
hundredths. What is your answer?

¢

VF

7b. Use the square to add 7 tenths and 3
hundredths. What is your answer?

¢

\is

8a. True or false? 0.906 + 0.025 = 0.931

8b. True or false? 0.034 + 0.856 = 0.884

o *
+_ ° | R
E » %
ﬁ i :‘ . § - VF ﬁ - VF
N— classroomsecrets.co.uk
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Adding Decimals Within 1

Adding Decimals Within 1

9a. What number do these counters

represent?

Add on fhree hundredths.

If you then add another 0.154, what
number would you have?

VF

9b. What number do these counters

represent?

Add on hine hundredihs more.

If you then add another 0.058, what
number would you have?

VF

10a. Complete the part whole model.

VF

10b. Complete the part whole model.

VF

11a. Use the square to add 4 tenths, 9
hundredths. What is your answer?

11b. Use the square to add eleven
hundredths. What is your answer?

it ]
| = N | (1S ]

1 » . .. ..ll
-
=

VF

12a. True or false? 0.134 + 0.789=0.113

12b. True orfalse? 0.604 + 0.298 = 0.902

®
i
i
i

s

classroomsecrets.co.uk
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Varied Fluency Varied Fluency

Adding Decimals Within 1 Adding Decimals Within1
Developing Developing
1a. 0.42; 0.59 1b. 0.35; 0.48
2a. 0.78 2b. 0.59
3a. 0.25 + 0.002 = 0.27 3b. 0.54 + 0.07 = 0.61
4a. False; 0.52 + 0.02 = 0.54 4b. True
Expected Expected
5a. 0.243; 0.257 5b. 0.325; 0.338
é6a. 0.561 6b.0.73
7a. 0.36 + 0.45 = 0.81 7b.0.17 + 0.73 = 0.9
8a. True 8b. False; 0.034 + 0.856 = 0.89
Greater Depth Greater Depth
9a. 0.262; 0.4446 9?b. 0.217; 0.345
10a. 0.92 10b. 0.71
11a.0.42 + 0.49 = 0.91 11b.0.83 + 0.11 = 0.94
12a. False; 0.134 + 0.789 = 0.923 12b. True

—— classroomsecrets.co.uk
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Homework/Extension
Step 2: Subtracting Decimals Within 1

National Curriculum Objectives:

Mathematics Year 5: (5F10) Solve problems involving number up to three decimal places
Mathematics Year 5: (5M9a) Use all four operations to solve problems involving measure
[for example, money] using decimal notation, including scaling

Differentiation:

Questions 1, 4 and 7 (Varied Fluency)
Developing Complete the part whole model. Subtracting decimals within 1 using
hundredths and tenths, no exchanges.
Expected Complete the part whole model. Subtracting decimails within 1 using
thousandths, hundredths and tenths, with exchanges.

Complete the part whole model. Subtracting decimals within 1 using
thousandths, hundredths and tenths with multiple exchanges per question.

Questions 2, 5 and 8 (Varied Fluency)
Developing Complete the number sentences. Subtracting decimals within 1 using
hundredths and tenths, no exchanges.
Expected Complete the number sentences. Subtracting decimals within 1 using
thousandths, hundredths and tenths, with exchanges.

Complete the number sentences. Subiracting decimals within 1 using
thousandths, hundredths and tenths with multiple exchanges per question.

Questions 3, 6 and 9 (Reasoning and Problem Solving)
Developing Provide possible distances for a given total within 1. One distance will be
provided. Subtracting decimals within 1 using hundredths and tenths, no exchanges.
Expected Provide possible distances for a given total within 1. Subtracting decimals within
1 using thousandths, hundredths and tenths, no crossing columns.

Provide possible distances for a given total within 1 where fwo distances will
need to add up to a given number. Subiracting decimals within 1 using thousandths,
hundredths and tenths with multiple exchanges per question.

More Year 5 Decimals resources.

Did you like this resource? Don't forget to review it on our website.

s 5. classroomsecrets.co.uk
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Subtracting Decimals Within 1

1. Complete the part whole models below.

A. B. C.

OROIOROXOX®
ﬁ

VE
HW/Ext

2. Use the inverse operation to complete the number sentences below.

A. 0. + 0.2 1 =0 825
B.O.7 4 + 0 = 0. 9 8
C.0 + 0.6 5§ =07 9
D. 0. 5 4 + 0. =0 9 6
E. 0. + 0.6 4 =0 89

Y Y
HW/Ext

3. Three children run a total distance of 0.98 miles. Write 5 possible distances that each
child could have run. One child's distance is given to you each time.

George John Abigail " '
L )
Possible Distance 1 0.22
Possible Distance 2 0.41 .
= &
Possible Distance 3 0.24
Possible Distance 4 0.36
Possible Distance 5 0.15 b
1Y e
g5 classroomsecrets.co.uk
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Subtracting Decimals Within 1

4. Complete the part whole modeis below.

Sh86de

VF
HW/Ext

5. Use the inverse operation to complete the number sentences below.

A. 0. + 0. 0 2 =0 61 3
B.0.7 2 5 + 0. =0 9 4 2
C. 0 + 0 7 7 =0. 9 6 5
D.0. 5 4 6 + 0. =0 87 5
E. O +0.4 1 9 =0 9 9 2

ﬁ VE
HW/Ext

6. Three children run a total distance of 0.981 miles. Write 5 possible distances that
each child could have run. One child’s distance is given to you each time.

Ethan McCauley Tegan I:; :;,'
Possible Distance 1 0.283 —
Possible Distance 2 0.15¢9 Hi 1,
Possible Distance 3 0.333 PN
Possible Distance 4 0.419 l ' E .
.;"
Possible Distance 5 0.449
¢ e
5 classroomsecrets.co.uk
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Subtracting Decimals Within 1

7. Complete the part whole models below.

A. B. C.
0.865

VF

HW/Ext

8. Use the inverse operation to complete the number sentences below.

A. 0. +0.1 7 9 =0.72 4

B.0.1 7 7 + 0. 0. 6 5 4

C. 0. + 0. 6 8 8

D.0. 8 4 8 + 0.

]|
© o o
0
o
-

7 6 2

E. 0. +0.4 7 3

VF
HW/Ext

9. Three children run a total distance of 0.991 miles. Each time they run, 2 children run
over 0.697 miles in total. Write 5 possible distances that each child could have run.

Daniel Joseph Rosie

Possible Distance 1

'
Possible Distance 2 A

O G
Possible Distance 3 e

Aosal,
Possible Distance 4

$0%

Possible Distance 5

RPS
HW/Ext

classroomsecrets.co.uk
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Homework/Exiension
Subtracting Decimals Within 1

Developing
1. A. 0.45B. 0.31 C. 0.82

2,A.064+021=0.85B.0.74+0.24=0.98C. 0.14+ 0.45=0.79 D. 0.54 + 0.42 = 0.96

E. 0.25 + 0.64 = 0.89

3. Various possible answers, for example: 0.22, 0.44, 0.32; 0.41, 0.34, 0.23; 0.51, 0.24, 0.23;
0.24, 0.346, 0.38; 0.45, 0.38, 0.15

Expected
4. A. 0.355B. 0.436 C. 0.605

5.A.0.593+0.02=0.613B. 0.725 + 0.217 = 0.942 C. 0.888 + 0.77 = 0.965

D. 0.546 + 0.329 = 0.875 E. 0.573 + 0.419 = 0.992

é. Various possible answers, for example: 0.283, 0.254, 0.444; 0.159, 0.642, 0.18; 0.333, 0.4,
0.248; 0.4, 0.419, 0.162; 0.289, 0.243, 0.449

Greater Depth
7. A. 0.588 B. 0.568 C. 0.213

8. A. 0.545 + 0.179 = 0.724 B. 0.177 + 0.477 = 0.654 C. 0.277 + 0.688 = 0.945

D. 0.848 + 0.53 = 0.901 E. 0.289 + 0.463 = 0.762

9. Various possible answers, for example: 0.391, 0.4, 0.2; 0.456, 0.252, 0.283; 0.1, 0.781,
0.11; 0.25, 0.501, 0.24; 0.23, 0.51, 0.251

o 5 classroomsecrets.co.uk
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Reasoning and Problem Solving
Step 2 - Subtracting Decimals Within 1

National Curriculum Objectives:

Mathematics Year 5: (5F10) Solve problems involving number up to 3dp.
Mathematics Year 5: (5M9a) Use all four operations to solve problems involving measure
[for example, length, mass, volume, money] using decimal notation, including scaling.

Differentiation:

Questions 1, 4, 7 (Problem Solving)
Developing Understand and evaluate statements linked to subtracting decimalsto 2
decimal places, using <, > and =, no exchanging.
Expected Understand and evaluate statements linked to subtracting decimals to 3
decimal places, using <, > and =, with one incidence of exchanging.

Understand and evaluate statements linked to subtracting decimals to 3
decimal places, using <, > and =, with multiple exchanges.

Questions 2, 5, 8 (Problem Solving)

Developing Calculate difference of numbers with 2 decimal places, no exchanging.

Expected Calculate difference of numbers with 3 decimal places, one exchange.
Calculate difference of numbers with 3 decimal places mulfiple

exchanges.

Questions 3, 6, 9 (Reasoning)
Developing Use a choice of 4 digits to create a subtraction within 1 (with 2 decimal
places). Compare achievable amounts with prediction given.
Expected Use a choice of 6 digits to create a subtraction within 1 (with 3 decimal places).
Compare achievable amounts with prediction given using < or >.

Use a choice of 7 digits to create a subtraction within 1 (with 3 decimal
places). Compare achievable amounts with prediction given using a value range.

More Year 5 Decimals resources.

Did you like this resource? Don't forget to review it on our website.
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Subtracting Decimals Within 1

Subtracting Decimals Within 1

la. Jesse solved these number sentences
using <, > or =

- 0.43-0.21 > 0.21 + 0.34
0.94-0.04 < 0.09
0.72-0.22=0.31 +0.19

0.4-0.03>0.07 +0.3

Has she solved them correctly? Correct
any mistakes you find.

¢

PS

1b. Denise solved these number
sentences using <, > or =

0.82-0.61>0.1+0.34

0.04 +0.04=0.6 +0.2

0.1-0.04=0.3+0.3

0.96 - 0.43<0.22 + 0.33

Has she solved them correctly? Correct
any mistakes you find.

¢

PS

2a. Dogs need to be 0.79 m tall to enter
the ‘big dog’ category at the dog show.

Geoff 0.54 m
Moss 0.86 m
Peanut | 0.3 m
Foster 0.72 m
Trigger 0.77 m

Which dog is nearest to the category?
By how much did they all miss out?

i

PS

2b. A carpenter is cutting lengths of wood
from planks which are 0.85m in length.

1 0.34 m
2 0.53 m
3 0.12m
4 0.74 m
5 0.83m

How much waste does each cut create?

)

PS

3a. Using the digit cards below for
subtraction, Fionn thinks the smallest
number he can make is 0.2

Is he correct? Explain your answer.

R

3b. Using the digit cards below for
subtraction, Jessica thinks the largest
number she can make will be > 0.5.

4

Is she correct? Explain your answer.

=

classroomsecrets.co.uk
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Subtracting Decimals Within 1

Subiracting Decimals Within 1

4a. Kamal solved these number
sentences using <, > or =

0.882 - 0.764 < 0.201 + 0.48
Soegl 0.394-0.146 > 0.2
€3 0.164-0.04 <0.002 + 0.122

0.7 -0.393<0.3-0.13

Has he solved them correctly? Show why
you think so correcting any mistakes you
find.

w

PS

4b. Jonnie solved these number
sentences using <, > or =

0.95-0.141 = 0.701 + 0.038
f; s.

0.114 -0.008 > 0.892 - 0.786
0.474-0.04 = 0.47

0.1 + 0.009 < 0.546 - 0.455

Has he solved them correctly? Show why
you think so correcting any mistakes you
find.

¢

PS

5a. Anna's running schedule has her
covering 0.854km per day. Her frainer
advised her to walk to warm up then run
each day as follows:

Mon 0.263 km
Tues 0.447 km
Wed 0.568 km
Thurs 0.734 km
Fri 0.8 km

How far did she walk to warm up each
day?

¢

PS

5b. Class 5 are having a sponsored
sunflower growing competition. To meet
their target, the flower needs to grow
0.423cm every two days.

Mon 0.116 cm
Wed 0.309 cm

Fri 0.067 cm
Mon 0.16 cm
Wed 0.006 cm

How much have they missed their target
by each day?

PS

éa. Using the digit cards below for
subtraction, Kayla thinks the smallest
number she can make will be > 0.1

'7__3_1 9|5 | 41 ]

Is she correct? Explain your answer.

R

6b. Using the digit cards below for
subftraction, Riley thinks the largest
number he can make will be > 0.9

Is he correct? Explain your answer.

w

ELASSROON
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Subtracting Decimals Within 1

Subtracting Decimals Within 1

7a. Graham solved these number
sentences using <, > or =

0.513 -0.064 < 0.01 + 0.008
;3

=n! g, e W
=
PFARN

0.94 - 0.046 > 0.086 + 0.808
0.784 - 0.096 = 0.992 - 0.304

0.973 -0.073 < 0.134 + 0.766

Has he solved them correctly? Show why

you think so correcting any mistakes you
find.

PS

7b. Amaya solved these number
sentences using <, > or =

0.195-0.149 = 0.792 - 0.753

& 0.472 - 0.385 > 0.673 - 0.594

> &4

0.474 - 0.08 < 0.953 - 0.569

0.009 + 0.594 < 0.607 - 0.004

Has she solved them correctly? Show why
you think so correcting any mistakes you
find.

PS

8a. Children must be 0.985m tall to ride
the Rocket Launcher ride alone.

Timmy | 0.983 m
Keeley | 0.576 m
Honey | 0.895 m

Jon 0.747 m
Libby 0.795 m

How much does each child have to grow
to ride the Rocket Launcher?

i)

8b. Joe need:s to knit at least 0.673m of his
pattern each day to complete the
garment by the weekend. This is his
knitting record.

Mon 0.673 m
Tues 0.567 m
Wed 0.684 m
Thurs 043 m

Fri 0.098 m

How far off his target is he each day?

PS

9a. Using the digit cards below for
subtraction, Connor thinks the smallest
number he can make will be:

<0.01 and > 0.004

8 9 2 3 5 1 0

Is he correct? Explain your answer.

R

?b. Using the digit cards below for

subtraction, Robyn thinks the largest

nhumber he can make will be:
<0.846 and > 0.832

Is he correct? Explain your answer.

classroomsecrets.co.uk
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Reasoning and Problem Solving
Subtracting Decimals Within 1

Developing
1a. Incorrect 0.22 < 0.55: incorrect 0.9 >

0.09; correct 0.5 = 0.5; incorrect 0.37 = 0.37
2a. 0.25m, +0.07m, 0.16m, 0.07m, 0.02m.
Moss is in the ‘big dog’ category; Trigger is
the closest to quadilifying.

3a. Incorrect. Various possible answers,
including: 0.47 - 0.28 = 0.19

Expected
4a. Correct 0.118 < 0.481: correct 0.248 >

0.2; incorrect 0.124 = 0.124; incorrect 0.277
>0.17

5a. 0.591km, 0.407km, 0.286km. 0.12km,
0.054km

éa. Incorrect. Various possible answers,
including: 0.513 - 0.497 = 0.016

Greater Depth
7a. Incorrect 0.449 > 0.018; incorrect 0.894

= 0.894; correct 0.688 = 0.488: incorrect 0.9
=0.9

8a. 0.002m, 0.409m, 0.09m, 0.238m, 0.19m
9a. Incorrect because 0.301 - 0.298 =
0.003

RSN i

Rt

© Classroom Sucreis Limited 2018

Reasoning and Problem Solving
Subtracting Decimals Within 1

Developing
1b. Incorrect 0.21 < 0.44: incorrect 0.08 <

0.8; incorrect 0.06 < 0.6; correct 0.53 < 0.55
2b. 0.51Tm, 0.32m, 0.73m, 0.11m, 0.02m
3b. Correct; 0.86 - 0.24 = 0.62

Expected
4b. Incorrect 0.809 > 0.739; incorrect 0.106

= 0.106; incorrect 0.434 < 0.47; incorrect
0.109 > 0.091

5b. 0.307cm, 0.114cm, 0.356cm, 0.263cm,
0.417cm

6b. Incorrect. Taking the smallest number
away from the largest number gives an
answer < 0.9

Greater Depth
7b. incorrect 0.046 > 0.039; correct 0.087 >

0.077; incorrect 0.394 > 0.384; correct
0.603 = 0.603

8b. Om, 0.106m, +0.011m, 0.243m, 0.575m
9b. Incorrect because 0.987 - 0.123 =
0.864

classroomsecrets.co.uk
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Homework/Extension
Step 1: Decimals up to 2 d.p

National Curriculum Objectives:

Mathematics Year 5: (5F8) Read, write, order and compare numbers with up fo three
decimal places
Mathematics Year 5: (5F10) Solve problems involving number up to three decimal places

Differentiation:

Questions 1, 4 and 7 (Varied Fluency)
Developing State which number has the lowest value of a given digit. Image support and
place value grid provided.
Expected State which number has the lowest value of a given digit. Place value grid
provided.

State which number has the lowest value of a given digit. No image or
place value grid provided.

Questions 2, 5 and 8 (Varied Fluency)
Developing Write the number that is represented in each place valve grid. Includes
conventional partitioning and images to support.
Expected Write the number that is represented in each place value grid. Includes some
unconventional partitioning and images for support.

Write the number that is represented in each number sentence. Includes
unconventional partitioning.

Questions 3, 6 and 9 (Reasoning and Problem Solving)

Developing Explain and correct the mistake. Includes conventional partitioning and
images to support.

Expected Explain and correct the mistake. Includes some unconventional partitioning and

images for support.
Explain and correct the mistake. Includes unconventional partitioning.

More Year 5 Decimals and Percentages resources.

Did you like this resource? Don’t forget to review it on our website.
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Decimals up to 2 d.

1. In which number does the 2 have the lowest value?

Ones l Tem‘hs

Hundredths

Ones + Tenths

Hundredths

OQ [P0

TS,
RO RS

OO E@E
Ckﬁ)%;

¢

Ones + Tenths

Hundredths

OO
O

.@@
RO

VF
HW/Ext

2, Write the number represented by each place value grid.

&

¢

|l add 2 ones
3 tenths and a
hundredth
counter. My
new number is
3.37.

Explain and correct Kathryn’s mistake.

A. Ones Tenths Hundredths | B. Ones 4 Tenths Hundredths
® 10 OO | [
(o)) (o) @) o)
1Y
3. Kathryn has some counters on her place value grid.
She says, Ones 5 Tenths Hundredths

© | O

D)
e

RPS
HW/Ext

ELASSROONY <<
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Decimals upto 2 d.p

4. In which number does the 4 have the lowest value?

Ones l Tenths Hundredths Ones + Tenths

Hundredths

11 4 | 5 4}1

5

Ones + Tenths Hundredths

115 | 4

W

VF
HW/Ext

5. Write the number represented by each place value grid.

A. Ones + Tenths Hundredths | B. Ones + Tenth

Hundredths

00 POOM@E oD,
OOO@@E O
OOO@ 00

SO0,

-~

s

]
7

VF
HW/Ext

6. Lee has some counters on his place value grid.

He says,

| add 1 ten 2\\ Tens Ones ¢ Tenths |Hundredths
H tenths and 3 @@
- = hundredths. @ ®
LT My new
,:gé_ number is
13.105. )

Explain and correct Lee’s mistake.

W

RPS
HW/Ext

_wmm  classroomsecrets.co.uk
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Decimals up to 2 d.p

7. In which number does the 8 have the lowest value?

3.84 3.08 8.34

80.34 38.04

VF
HW/Ext

8. Write the number represented by each sentence.

A. B. 2 6 C.
R
18 tenths + 4 fe":t':‘esi i 5 ones + 23
hundredths hundredth
hundredths S
VF
HW/Ext
9. Aliyah says,
I have 5 ones, 10 Tens Ones + Tenths |Hundredths
tenths and ¢
hundredths. | add l
rm— 20 ones, 2 tenths,
K and take away a
_— hundredth. My new
b A number is 25.28.

Explain and correct Aliyah's mistake.

RPS
HW/Ext
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Homework/Extension
Decimals up to 2 d.p

Developing
1.5.32

2. A. 1.35,B.2.06
3. Kathryn has added 1 tenth and 3 hundredths instead of the other way round. Her new
number is 3.55.

Expected
4. 1.54

5.A.3.29,B.1.08
é. Lee has not exchanged the 10 tenths for a one. His new number is 14.05.

Greater Depth
7.3.08

8.A. 1.84,B.2.73, C.5.23
9. Aliyah has not exchanged the 10 tenths to for a one but has counted them as 1 tenth.
Her new number is 26.28.

o classroomsecrets.co.uk
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Reasoning and Problem Solving
Step 1: Decimails up to 2d.p.

National Curriculum Objectives:

Mathematics Year 5: (5F8) Read, write, order and compare numbers with up to three
decimal places
Mathematics Year 5: (5F10) Solve problems involving number up to three decimal places

Differentiation:

Questions 1, 4 and 7 (Reasoning)
Developing Read each decimal to identify the odd one out. Includes conventional
partitioning and images for support.
Expected Read each decimal to identify the odd one out. Includes the use of zero as a
place holder, some unconventional partitioning and images for support.

Read each decimal to identify the odd one out. Includes the use of zero as
a place holder, unconventional partitioning and no images for support.

Questions 2, 5 and 8 (Problem Solving)
Developing Use clues to identify a number. Includes conventional partitioning and one
possible answer.
Expected Use clues to identify a number. Includes some unconventional partitioning and
several possible answers.

Use several clues to identify a number. Includes unconventional partitioning
and several possible answers.

Questions 3, 6 and 9 (Reasoning)

Developing Explain whether partitioning has been completed correctly. Includes

conventional partitioning and images for support.

Expected Explain whether partitioning has been completed correctly. Includes the use of

zero as a place holder, some unconventional partitioning and images for support.
Explain whether partitioning has been completed correctly. Includes the

use of zero as a place holder, unconventional partitioning and no images for support.

More Year 5 Decimals and Percentages resources.

Did you like this resource? Don't forget to review it on our website.
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Decimals up to 2d.p.

Decimails up to 2d.p.

1a. Spot the odd one out.

1b. Spot the odd one out.

*7+0.2+0.04 *3+06+005 | (> @ .
h J - y .
(8. seven ones, two 1 fB. three ones, five h ... .
tenths and four @ tenths and six .
hundredths hundredths .. .
OO O ¢ ®
724 | |COOT]|[ 3.65 1 © ®
. ' ) Z1IL ' | & 9 J

Explain your answer fully.

¢ :

Explain your answer fully.

Y

2a. Jack is thinking of a number.

My number lies
between
8+0.3+0.07
and 8 + 0.3 + 0.05

What number is Jack thinking of?

w

PS

2b. Martha is thinking of a number.

My number lies
between
5+0.9+0.03
and 5 + 0.9 + 0.01

What number is Martha thinking of?

¢

)

3a. Matt has used place value counters to
partition 4.73.

QOOO®®
O OO

®
9666,

Is he correct? Prove it.

& R

3b. Anju has used place value counters
o partition 8.84.

OO
OO O®
OO O®
OO

Is she correct? Prove it.

¢

0006
9066

W A
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Decimals up to 2d.p.

Decimals up to 2d.p.

4a. Spot the odd one out.

4b. Spot the odd one out.

A, 1 (o N
| 4+1.3 )
B. ifoutrh oneds,"(:ne A
R err:ungrnedih;ee
= , 0
EELLENN NCCION

.

Ay r04+014 | [

(B ~
* two ones, five
tenths and four

hundredths

>
2

\.
C.

2.45

e v

Explain your answer fully.

W :

Explain your answer fully.

1T :

5a. Rob is thinking of a number.

My number lies
between
4+0.6+0.08
and 4 + 0.5 +0.12

What number is Rob thinking of? Is there
more than one possible answer?

¢

PS

5b. Sunita is thinking of a number.

My number lies
between
7 +0.3 +0.09
and 7+ 0.2 + 0.13

What humber is Sunita thinking of? Is there
more than one possible answer?

W

PS

éa. Pete has used place value counters to
partition 2.09.

€

O

OOO®
096106

Is he correct? Prove it.

W

R

éb. Tiana has used place value counters
to partition 4.27.

Is she correct? Prove it.

Y :

R i es

© Classroom Secrets Limited 2019
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Decimails up to 2d.p.

Decimals up to 2d.p.

7a. Spot the odd one out.

7b. Spot the odd one out.

# -

[ T
60+ 1+0.7 +0.08 (. \ - 70 + 17 + 0.28 (. g
. J - _J
r T N
" btens, 1one, 7 diens * 2 B 6 tens, 27 ones Btens+5
ones+ 5 ones + 12
tenths and 18 and 28
hundredths tenths + 28 hundredths tenths + 8
hundredths hundredths
50+11+0.6+0.18 80+ 7 +0.2+0.08
s v \_ / e y \ )

Explain your answer fully.

Explain your answer fully.

8a. Jai is thinking of a number.

~

My number lies
between
6+07+014
and 6 + 0.4 + 0.27.
The hundredth is an

even number.

>

@

What number is Jai thinking of? Is there
more than one possible answer?

PS

8b. Tammiy is thinking of a number.

My number lies
between
10+13+03+0.13
and 20 + 3+ 0.1 + 0.16.
The hundredth is an
odd number.

\

o/

What number is Tammy thinking of? Is
there more than one possible answer?

PS

9a. Oscar has altempted to partition
34.82.

two tens + fourteen ones + seven tenths +
twenty-two hundredths

Is he correct? Prove it.

R

?b. Melissa has attempted to partition

23.08.

two tens + three hundred and eighty
hundredths

Is she correct? Prove it.

P
R e

© Classroom Secrets Limited 2019
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Reasoning and Problem Solving

Decimals up to 2d.p.

Developing
1a. D is the odd one out as it represents

7.42. The others represent 7.24.

2a. 8.36

3a. Matt is incorrect as he has made 3.47
instead of 4.73.

Expected
4a. A is the odd one out as it represents

5.3. The others represent 4.13.

5a.4.63, 4.64, 4.65, 4.66 or 4.67

6a. Pete is correct as 10 tenths is the same
as 1.

Greater Depth
7a. B is the odd one out as it represents

61.88. The others represent 61.78.

8a. 6.68, 6.70, 6.72, 6.74, 6.76, 6.78, 6.80 or
6.82

9a. Oscar is incorrect as his partitioned
number makes 34.92 instead of 34.82

S ASZROE I

Reasoning and Problem Solving
Decimals up to 2d.p.

Developing
1b. B is the odd one out as it represents

3.56. The others represent 3.45.

2b. 5.92

3b. Anju is incorrect as she has made 8.48
instead of 8.84.

Expected
4b. C is the odd one out as it represents

2.45. The others represent 2.54,

5b. 7.34, 7.35, 7.36, 7.37 or 7.38

éb. Tiana is incorrect as she has made
5.27 instead of 4.27.

Greater Depth
7b. D is the odd one out as it represents

86.28. The others represent 87.28.

8b. 23.27, 23.29, 23.31, 23.33, 23.35, 23.37,
23.39 or 23.41

?b. Melissa is incorrect as her partitioned
number makes 23.8 instead of 23.08

classroomsecrets.co.uk
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Varied Fluency
Step 1: Decimals up to 2d.p.

National Curriculum Objectives:

Mathematics Year 5: (5F8) Read, write, order and compare numbers with up to three
decimal places
Mathematics Year 5: (5F10) Solve problems involving number up to three decimal places

Differentiation:

Developing Questions to support reading, writing and understanding the value of digits up
to 2 decimal places. Includes conventional partitioning and images for support.
Expected Questions to support reading, writing and understanding the value of digits up to
2 decimal places. Includes the use of zero as a place holder, some unconventional
partitioning and images for support.

Questions to support reading, writing and understanding the value of digits
up to 2 decimal places. Includes the use of zero as a place holder, unconventional
partitioning and no images for support.

More Year 5 Decimals and Percentages resources.

Did you like this resource? Don't forget to review it on our website.
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Decimals up to 2d.p.

Decimals up to 2d.p.

1a. Circle the decimal number that is
represented on the place value chart.

1b. Circle the decimal number that is
represented on the place value chart.

Ones + Tenths

Ones

J, Tenths

OO

©
oJoJo

O O

ORONG'

A 4

B. 6.7 C.7.6

ﬁ A.7.06

. ﬁ? A.8.5

B. 5.8 C.5.08

VE

2a. Match each decimal number to the
correct visual representation.

2b. Maich each decimal number to the
correct visual representation.

# ;

QOOO® || ,[ e | [ OB
A | 42 1. @ ) | . @8
D 2| 2] QOO

B.| 1.24 | 2. 88 B.{| 3 INO)
@ C.| 53 3 @

c.| 243 | 3 @ oS 1 OE) ) ) m)

¢

VF

3a. True or false?
2.15 = 2 ones + 5 tenths + 1 hundredth

OO

% .

3b. True or false?

OO

¢

4.27 = 4 ones + 2 tenths + 7 hundredths

OO

VF

4a. In which number does the 4 have the

lowest value?
| 264 | [ 64z | [ a2 |

# :

highest value?
| 153 |

T

4b. In which number does the 3 have the

531 |

) N 1

| 315

VF
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Decimals up to 2d.p.

Decimals up to 2d.p.

5a. Circle the decimal number that is
represented on the place value chart.

5b. Circle the decimal number that is
represented on the place value chart.

Ones )|

VF

ﬁ A. 3.37

Ones 4 Tenths Hundredths Tenths Hundredths
O (290 oo}
OHO, @) G

B. 3.73 C.0.73 B. 4.6 C. 6.04

VF

ﬁ A. 4.06

é6a. Match each decimal number to the
correct visual representation.

(eo0) (e2) (o) om) o) o)
A.| 1.32 1.
B.| 012 | 2.| ()G Ga)(om) ()
c.| 104 | 3.|()GE)ED)(E)6) 6

VE

¢

6b. Match each decimal number to the
correct visual representation.

EEEEE)
O

A | 0.82 1.

®
®
®
®

B. | 3.41

@)

0.0,
90,
OO
®6

90,
9.0

w

C.

W

1.02

O0

O
®6
016

VF

7a. True or false?
0.35 = 2 tenths + 15 hundredths

OIONTIOIO)

86/6]0
9610/0)
0l06/6)

S @) @) ()

VF

7b. True or false?
0.64 = 6 tenths + 14 hundredths

OO OO

0O,
0]0)0]0,
0l0/6[0)

0)0]0

e @) @&

VF

8a. In which number does the 6 have the
lowest value?

48|
w

6.08

| 708 |

VF

8b. In which number does the 9 have the
highest valve?

o] [am

9.64

VF

W
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Decimals up to 2d.p.

Decimals up to 2d.p.

?a. Circle the decimal number that is
represented below.

eight tens + two ones + fourteen tenths +
six hundredths

A. 82.44 B.83.46 C.82.146

VF

?b. Circle the decimal number that is
represented below.

three tens + eleven ones + twenty-five
hundredths

A.41.025 B.311.25 C.41.25

VF

10a. Match each decimal number to the
correct partitioned form.

6 ones + 38

A | 863 1. hundredths
6 ones + 24 tenths + 3

B.| 8.36 2. hundredths

6 ones + 236

C.| 638 3. hundredths

VF

10b. Match each decimal number to the
correct partitioned form.

6 ones + 79

A | 7.69 1. hundredths
6 ones + 19 tenths + é

B.| 679 | 2 hundredths

6 ones + 169

C.| 796 | 3 hundredths

VF

11a. True or false?

A.2.74 = 2 ones + 5 tenths + 24
hundredths

B. 4.19 = 3 ones, 11 tenths + 9 hundredths

VF

11b. True or false?

A. 3.89 = 2 ones + 28 tenths + 9
hundredths

B. 23.07 = 2 tens + 2 ones + 107
hundredths

VF

12a. In which number does the 9 have
the lowest value?

2002 |

| 22,09 |

| 92.02 |

VF

12b. In which number does the 5 have
the highest value?

| 745 | [as07 ]

| 7405 |

\'3
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Varied Fluency Varied Fluency

Decimals up to 2d.p. Decimals up to 2d.p.
Developing Developing
la. C 1b. B
2a. A2, B3, C1 2b. A3, B2, C1
3a. False. 2.15 = 2 ones, 1 tenth and 5 3b. True
hundredths 4b. 3.15
4a. 2.64
Expected Expected
5a. B 5b. A
éa. A3, B1,C2 6b. A1, B3, C2
7a. True 7b. False. 0.64 = é tenths and 4 hundredths
8a. 7.06 8b. 9.64
Greater Depth Greater Depth
9a. B 9b. C
10a. A2, B3, C1 10b. A3, B1, C2
11a. A = true, B = true 11b. A =false (3.89 = 2 ones + 18 tenths +
12a. 22.09 ? hundredths), B = true
12b. 45.07
I classroomsecrets.co.uk
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